
CONNECTOR SUBSEA SOLUTIONS
Head office: 	 Kokstadflaten 17, 5257 Kokstad, Norway
Locations in:	 Brazil, UK, Croatia & Bosnia

www.connectorsubsea.com    //  mail@connectorsubsea.com

 +47 99 70 11 11   //    connector-subsea-solutions

PRODUCT GROUP   
PIPELINE REPAIR & TIE-IN    

Product ID: 20502-0017-01  //  Page: 1/2

PIPELINE END  
PREPARATION TOOLS

PRODUCT DESCRIPTION
Pipeline End Preparation Tools ensure that after a subsea pipeline 
is cut, the end can be machined to the required tolerance for the 
next step in operation, whether that be the installation of a me-
chanical connector, end termination or weld.

A light, simple ROV dedicated tool is both quick and easy to mo-
bilize and operate, ensuring that the pipe cut is both square and 
all burring removed. This assurance fully mitigates risk of causing 
damage to interfacing components and ensures the correct oper-
ational tolerances are achieved. 

A simple tool mounting on the pipe inner diameter ensures the 
machining plate can be modified to suit a wide range of pipeline 
sizes, materials and tolerances. 

This solution provides an increased level of safety and control 
when preparing to interface subsea pipelines, reducing operation-
al risk.

CAPACITIES

Pipeline size	 6-16 in

Water depth (m)	 3000 m 

DIMENSIONS & WEIGHT	

Dimensions (HxWxD)	 0,8 x 1,2 x 1,0 m

Mass of tool	 270 kg

Weight of tool in air	 2649 N (270 kgf)

Submerged weight of tool	 2207 N (225 kgf)

INTERFACES	

ROV operated	 Yes, compliant with CSS ROV skid and topside control  
	 system. Requires pressure and flow control

ROV Interface Specification	 4 Line stab and Receptacle, Ø35, 10k, API 17D (x2)

Max. working pressure	 207 bar /3000 psi

Continued on next page >>

A-A ( 1 : 10 )

B-B ( 1 : 10 )

A

A

BB

 PN1112901.9 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_16 inch pipe9
 PN1112891.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_14 inch pipe8
 PN1112591.48 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_12 inch pipe7
 PN1112950.89 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_10 inch pipe6
 PN1112960.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_8 inch pipe5
 PN1112611.04 kgEN 10088-3 X4CrNiMo16–5-112 Clamp-Pad_ pipe 10-16 inch4
 PN1112980.76 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 8 inch3
 PN1112970.59 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 6 inch2
 PN111557274.56 kg 1 Pipe End Preparation Tool 1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

 PN1118300 kgA21Lubricating Nipple, coned Type 
A

DIN 71412 - AM 6 (coned short)80

 PN1128710.05 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 30 x 25,62578
 PN1128691.97 kgEN 10088-2 X2CrNiMo17-12-22 Spacer plate77
 PN1128670 kgEN 10088-2 X2CrNiMo17-12-24 Spring plate76
 PN1128660.03 kgEN 10088-2 X2CrNiMo17-12-24 Clamping plate75
 PN1112860.02 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 60 x 2474
 PN1126060.08 kgEN 10088-3 X2CrNiMo17-12-22 Washer 66
 PN1116530 kgISO 3506-1 A4-8038Spring WasherDIN 127 - A 868
 PN1116600.01 kgISO 3506-1 A4-8012Hexagon socket countersunk 

head cap screws
DIN 7991 - M6x2561

 PN1116510.01 kgEN 10088-3 X2CrNiMo17-12-22starvars outputSS-8-TA-1-8RS30
 PN1113030.02 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 30 x 26,87551
 PN1116267.69 kgEN 10025-2 GRADE S355J2+N1 Graber44
 PN1110590.16 kgEN 10088-2 X2CrNiMo17-12-24 20001_SS-810-9_3-3.ipt31
 PN1110580.06 kgEN 10088-2 X2CrNiMo17-12-22 20001_SS-8-TA-1-6-RS-2.ipt29
 PN1110602.51 kgIron, Cast1 20001_Hydromotor-OMM 50-1.ipt28
 PN11162073.02 kg 1 Turning table6
 PN1115640.12 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 110 x 3658
 PN1066190.02 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M8 x 3552
 PN1115260.01 kgISO 3506-1 A4-801Hexagon Domed Cap NutsDIN 986 - M8 x 1,2573
 PN1060790.01 kgISO 3506-1 A4-807Cylinder Head Cap ScrewDIN 912 - M6 x 3046
 PN1115080 kgISO 3506-1 A4-807Spring WasherDIN 127 - A 667
 PN1065200.02 kgISO 3506-1 A4-806Cylinder Head Cap ScrewDIN 912 - M8 x 4553
 PN1115140 kgISO 3506-1 A4-802Hexagon Socket Set ScrewDIN 916 - M5  x  564
 PN1114090.09 kgISO 3506-1 A4-806Hexagon socket countersunk 

head cap screws
DIN 7991 - M16x5063

 PN1113950.01 kgISO 3506-1 A4-8024Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 16 x 12,87549
 PN1058750.01 kgISO 3506-1 A4-8011Hexagon socket countersunk 

head cap screws
DIN 7991 - M6 x 2060

 PN1065690.08 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M12 x 6556
 PN1113900.01 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 45 x 2448
 PN1113890.01 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 25 x 22,545
 PN1056340.03 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M10 x 2554
 PN1113860.01 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 20 x 16,87550
 PN1038620.02 kgA4-80 SS1Spring WasherDIN 127 - A 2070
 PN1086650.02 kgISO 3506-1 A4-804Hex NutDIN 934 - M1272
 PN1113020 kgISO 3506-1 A4-8014Spring WasherDIN 127 - A 1269
 PN1113010.06 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 45 x 40,62555
 PN1112880.01 kgISO 3506-1 A4-806Hex NutDIN 934 - M8 x 1,2571
 PN1112530.13 kgISO 3506-1 A4-8017Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 120 x 3659
 PN1067370.04 kgISO 3506-1 A4-801Hexagon socket countersunk 

head cap screws
DIN 7991 - M12x3562

 PN1114080.09 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 80 x 3657
 PN1089460.01 kgISO 3506-1 A4-804WasherDIN 125 - A 1365
 PN1112636.7 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 343
 PN1114982.42 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 242
 PN1112642.35 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 141
 PN1115130.21 kgEN 10088-2 X2CrNiMo17-12-21 Coupling40
 PN1112710.81 kgPOM-C2 Knife protection plate39
 PN1112720.11 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
4 Holder 38

 PN1096970.47 kgASTM A322 GRADE 41402 Cutting knife_chamfering37
 PN1112661.18 kgEN 10088-2 X2CrNiMo17-12-22 Knife Holder 236
 PN1096980.47 kgASTM A322 GRADE 41402 Cutting Knife_frontal 35
 PN1096960.8 kgEN 10088-3 X2CrNiMo17-12-22 Knife Holder 134
 PN1111390.09 kgEN 10088-3 X2CrNiMo17-12-21 Washer33
 PN1115492.3 kgAPI 6A AISI 41401 Spur Gear 1932
 PN1110113.18 kg 1 TG0785MW460AAAB27
  1.82 kg 1KM DVGF 80/40 - 100 mmHydraulic cylinder26
 PN1091784.94 kgSteel2Blue Logic4 Line Receptacle 25
 PN11148515.71 kg 1 Worm reducer24
 PN1107281.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
2 Receptacle bracket23

 PN1115462.24 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Holder22

 PN1114881.13 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Motor holder21

 PN1111330.41 kgEN 10088-3 X4CrNiMo16–5-11  Bolt Tr20x220
 PN1114060.04 kgEN 10088-3 X2CrNiMo17-12-22 24430-sodemann19
 PN1097242.19 kgEN 10088-3 X4CrNiMo16–5-12 Guide bolt18
 PN1112570.6 kgASTM B150 UNS C630001 NUT Tr20x217
 PN1097024.21 kgEN 10088-3 X5CrNiMo17-12-21 Motor bracket16
 PN1112560.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Distance plate15

 PN1097011.41 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Distance plate14

 PN1113840.22 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M2013
 PN1096871.17 kgEN 10088-3 X4CrNiMo16–5-11 Push Pull Disc12
 PN1096891.7 kgEN 10083-3 GRADE 42CrMo43 Clamp-Rib11
 PN1096883.13 kgEN 10088-3 X4CrNiMo16–5-11 Push pull rood10
 PN1096916.28 kgEN 10083-3 GRADE 42CrMo41 Clamp cone9
 PN1113850.22 kgEN 10088-3 X2CrNiMo17-12-22 Cylindrical stopper8
 PN1096930.93 kgASTM B150 UNS C630001 End ring sliding disk7
 PN1112420.35 kgASTM B150 UNS C630001 Support ring5
 PN11156034.76 kg 1 Feed slide disk4
 PN10969218.16 kgEN 10088-3 X4CrNiMo16–5-11 Base unit3
 PN1097053.44 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Carrier2

 PN10969935.69 kgEN 10088-3 X2CrNiMo17-12-21 Base plate1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

DWG REV:
SCALE:

DWG No.:DESCRIPTION:

TITLE:

SHEET:

PROJECT:

WEIGHT:

This drawing is the property of CONNECTOR SUBSEA SOLUTIONS. It must not be copied, altered or distribued in any way without prior consent from the company!

PROJECTION:

274,6 kg

SN-19024 - Pipe End Preparation Tool

Pipe End Preparation Tool 
General Arrangement Drawing - PEPT

D106304

1 of 2 51 : 10
FORMAT:

A3

Part No.:

PN111557

AKU
DRAWN BY:

AKU
CREATED BY:

GA
DRAWING TYPE:

CLIENT:

5 24.2.2020.  AKU Released
4 7.2.2020. Material change AKU Released
3 18.1.2020.  AKU Released

REV DATE COMMENT RESPONSIBLE STATE

1

22

CoG CoG

10
13

753

79
4

608

100

80
Ø

40
Ø

7

580

CoG
54

602

ROV/Tool interface

Description NO
Hyd. receptacle 4 lines (2 pieces) A

Knife protection (2 pieces) B
ROV Grabber bar Ø20 C

A

C

Technical data
Max.Total weight 16" PIPE 284 kg

Submerged weight 177 kg

1180



CONNECTOR SUBSEA SOLUTIONS
Head office: 	 Kokstadflaten 17, 5257 Kokstad, Norway
Locations in:	 Brazil, UK, Croatia & Bosnia

www.connectorsubsea.com    //  mail@connectorsubsea.com

 +47 99 70 11 11   //    connector-subsea-solutions

Product ID: 20502-0017-01  //  Page: 2/2

PIPELINE END PREPARATION TOOLS
PIPELINE REPAIR & TIE-IN 

For more information on this and related products, visit us at:  
www.connectorsubsea.com

DIMENSIONS & WEIGHT (CONTINUED)

Hydraulic oil	 Shell Tellus S2 22/32 (typical) 
	 NAS8/ISO 4406 19/17/14

ROV grabber bars	 Yes

Installation	 WROV

ADDITIONAL INFO

Design code 	 DNVGL 2.7-3 Portable offshore units 
	 DNVGL-OS-C101 Design of offshore steel structures

Installation	 WROV

Buoyancy application	 Yes. Note that buoyancy is not delivered with tool

Coating	 NORSOK 7B, Marine epoxy paint system

Cathodic protection	 No

Packing	 Box

01 // Factory acceptance testing 02 // Pipe end upon completion 03 // ROV footage of subsea application

A-A ( 1 : 10 )

B-B ( 1 : 10 )

A

A

BB

 PN1112901.9 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_16 inch pipe9
 PN1112891.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_14 inch pipe8
 PN1112591.48 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_12 inch pipe7
 PN1112950.89 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_10 inch pipe6
 PN1112960.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_8 inch pipe5
 PN1112611.04 kgEN 10088-3 X4CrNiMo16–5-112 Clamp-Pad_ pipe 10-16 inch4
 PN1112980.76 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 8 inch3
 PN1112970.59 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 6 inch2
 PN111557274.56 kg 1 Pipe End Preparation Tool 1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

 PN1118300 kgA21Lubricating Nipple, coned Type 
A

DIN 71412 - AM 6 (coned short)80

 PN1128710.05 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 30 x 25,62578
 PN1128691.97 kgEN 10088-2 X2CrNiMo17-12-22 Spacer plate77
 PN1128670 kgEN 10088-2 X2CrNiMo17-12-24 Spring plate76
 PN1128660.03 kgEN 10088-2 X2CrNiMo17-12-24 Clamping plate75
 PN1112860.02 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 60 x 2474
 PN1126060.08 kgEN 10088-3 X2CrNiMo17-12-22 Washer 66
 PN1116530 kgISO 3506-1 A4-8038Spring WasherDIN 127 - A 868
 PN1116600.01 kgISO 3506-1 A4-8012Hexagon socket countersunk 

head cap screws
DIN 7991 - M6x2561

 PN1116510.01 kgEN 10088-3 X2CrNiMo17-12-22starvars outputSS-8-TA-1-8RS30
 PN1113030.02 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 30 x 26,87551
 PN1116267.69 kgEN 10025-2 GRADE S355J2+N1 Graber44
 PN1110590.16 kgEN 10088-2 X2CrNiMo17-12-24 20001_SS-810-9_3-3.ipt31
 PN1110580.06 kgEN 10088-2 X2CrNiMo17-12-22 20001_SS-8-TA-1-6-RS-2.ipt29
 PN1110602.51 kgIron, Cast1 20001_Hydromotor-OMM 50-1.ipt28
 PN11162073.02 kg 1 Turning table6
 PN1115640.12 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 110 x 3658
 PN1066190.02 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M8 x 3552
 PN1115260.01 kgISO 3506-1 A4-801Hexagon Domed Cap NutsDIN 986 - M8 x 1,2573
 PN1060790.01 kgISO 3506-1 A4-807Cylinder Head Cap ScrewDIN 912 - M6 x 3046
 PN1115080 kgISO 3506-1 A4-807Spring WasherDIN 127 - A 667
 PN1065200.02 kgISO 3506-1 A4-806Cylinder Head Cap ScrewDIN 912 - M8 x 4553
 PN1115140 kgISO 3506-1 A4-802Hexagon Socket Set ScrewDIN 916 - M5  x  564
 PN1114090.09 kgISO 3506-1 A4-806Hexagon socket countersunk 

head cap screws
DIN 7991 - M16x5063

 PN1113950.01 kgISO 3506-1 A4-8024Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 16 x 12,87549
 PN1058750.01 kgISO 3506-1 A4-8011Hexagon socket countersunk 

head cap screws
DIN 7991 - M6 x 2060

 PN1065690.08 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M12 x 6556
 PN1113900.01 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 45 x 2448
 PN1113890.01 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 25 x 22,545
 PN1056340.03 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M10 x 2554
 PN1113860.01 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 20 x 16,87550
 PN1038620.02 kgA4-80 SS1Spring WasherDIN 127 - A 2070
 PN1086650.02 kgISO 3506-1 A4-804Hex NutDIN 934 - M1272
 PN1113020 kgISO 3506-1 A4-8014Spring WasherDIN 127 - A 1269
 PN1113010.06 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 45 x 40,62555
 PN1112880.01 kgISO 3506-1 A4-806Hex NutDIN 934 - M8 x 1,2571
 PN1112530.13 kgISO 3506-1 A4-8017Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 120 x 3659
 PN1067370.04 kgISO 3506-1 A4-801Hexagon socket countersunk 

head cap screws
DIN 7991 - M12x3562

 PN1114080.09 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 80 x 3657
 PN1089460.01 kgISO 3506-1 A4-804WasherDIN 125 - A 1365
 PN1112636.7 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 343
 PN1114982.42 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 242
 PN1112642.35 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 141
 PN1115130.21 kgEN 10088-2 X2CrNiMo17-12-21 Coupling40
 PN1112710.81 kgPOM-C2 Knife protection plate39
 PN1112720.11 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
4 Holder 38

 PN1096970.47 kgASTM A322 GRADE 41402 Cutting knife_chamfering37
 PN1112661.18 kgEN 10088-2 X2CrNiMo17-12-22 Knife Holder 236
 PN1096980.47 kgASTM A322 GRADE 41402 Cutting Knife_frontal 35
 PN1096960.8 kgEN 10088-3 X2CrNiMo17-12-22 Knife Holder 134
 PN1111390.09 kgEN 10088-3 X2CrNiMo17-12-21 Washer33
 PN1115492.3 kgAPI 6A AISI 41401 Spur Gear 1932
 PN1110113.18 kg 1 TG0785MW460AAAB27
  1.82 kg 1KM DVGF 80/40 - 100 mmHydraulic cylinder26
 PN1091784.94 kgSteel2Blue Logic4 Line Receptacle 25
 PN11148515.71 kg 1 Worm reducer24
 PN1107281.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
2 Receptacle bracket23

 PN1115462.24 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Holder22

 PN1114881.13 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Motor holder21

 PN1111330.41 kgEN 10088-3 X4CrNiMo16–5-11  Bolt Tr20x220
 PN1114060.04 kgEN 10088-3 X2CrNiMo17-12-22 24430-sodemann19
 PN1097242.19 kgEN 10088-3 X4CrNiMo16–5-12 Guide bolt18
 PN1112570.6 kgASTM B150 UNS C630001 NUT Tr20x217
 PN1097024.21 kgEN 10088-3 X5CrNiMo17-12-21 Motor bracket16
 PN1112560.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Distance plate15

 PN1097011.41 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Distance plate14

 PN1113840.22 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M2013
 PN1096871.17 kgEN 10088-3 X4CrNiMo16–5-11 Push Pull Disc12
 PN1096891.7 kgEN 10083-3 GRADE 42CrMo43 Clamp-Rib11
 PN1096883.13 kgEN 10088-3 X4CrNiMo16–5-11 Push pull rood10
 PN1096916.28 kgEN 10083-3 GRADE 42CrMo41 Clamp cone9
 PN1113850.22 kgEN 10088-3 X2CrNiMo17-12-22 Cylindrical stopper8
 PN1096930.93 kgASTM B150 UNS C630001 End ring sliding disk7
 PN1112420.35 kgASTM B150 UNS C630001 Support ring5
 PN11156034.76 kg 1 Feed slide disk4
 PN10969218.16 kgEN 10088-3 X4CrNiMo16–5-11 Base unit3
 PN1097053.44 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Carrier2

 PN10969935.69 kgEN 10088-3 X2CrNiMo17-12-21 Base plate1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

DWG REV:
SCALE:

DWG No.:DESCRIPTION:

TITLE:

SHEET:

PROJECT:

WEIGHT:

This drawing is the property of CONNECTOR SUBSEA SOLUTIONS. It must not be copied, altered or distribued in any way without prior consent from the company!

PROJECTION:

274,6 kg

SN-19024 - Pipe End Preparation Tool

Pipe End Preparation Tool 
General Arrangement Drawing - PEPT

D106304

1 of 2 51 : 10
FORMAT:

A3

Part No.:

PN111557

AKU
DRAWN BY:

AKU
CREATED BY:

GA
DRAWING TYPE:

CLIENT:

5 24.2.2020.  AKU Released
4 7.2.2020. Material change AKU Released
3 18.1.2020.  AKU Released

REV DATE COMMENT RESPONSIBLE STATE

1

22

CoG CoG

10
13

753

79
4

608

100

80
Ø

40
Ø

7

580

CoG
54

602

ROV/Tool interface

Description NO
Hyd. receptacle 4 lines (2 pieces) A

Knife protection (2 pieces) B
ROV Grabber bar Ø20 C

A

C

Technical data
Max.Total weight 16" PIPE 284 kg

Submerged weight 177 kg

1180

A-A ( 1 : 10 )

B-B ( 1 : 10 )

A

A

BB

 PN1112901.9 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_16 inch pipe9
 PN1112891.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_14 inch pipe8
 PN1112591.48 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_12 inch pipe7
 PN1112950.89 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_10 inch pipe6
 PN1112960.54 kgNORSOK M-121 MDS M03 Grade 6082 (T6)3 Clamp insert_8 inch pipe5
 PN1112611.04 kgEN 10088-3 X4CrNiMo16–5-112 Clamp-Pad_ pipe 10-16 inch4
 PN1112980.76 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 8 inch3
 PN1112970.59 kgEN 10088-3 X4CrNiMo16–5-13 Clamp-Pad_ pipe 6 inch2
 PN111557274.56 kg 1 Pipe End Preparation Tool 1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

 PN1118300 kgA21Lubricating Nipple, coned Type 
A

DIN 71412 - AM 6 (coned short)80

 PN1128710.05 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 30 x 25,62578
 PN1128691.97 kgEN 10088-2 X2CrNiMo17-12-22 Spacer plate77
 PN1128670 kgEN 10088-2 X2CrNiMo17-12-24 Spring plate76
 PN1128660.03 kgEN 10088-2 X2CrNiMo17-12-24 Clamping plate75
 PN1112860.02 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 60 x 2474
 PN1126060.08 kgEN 10088-3 X2CrNiMo17-12-22 Washer 66
 PN1116530 kgISO 3506-1 A4-8038Spring WasherDIN 127 - A 868
 PN1116600.01 kgISO 3506-1 A4-8012Hexagon socket countersunk 

head cap screws
DIN 7991 - M6x2561

 PN1116510.01 kgEN 10088-3 X2CrNiMo17-12-22starvars outputSS-8-TA-1-8RS30
 PN1113030.02 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 30 x 26,87551
 PN1116267.69 kgEN 10025-2 GRADE S355J2+N1 Graber44
 PN1110590.16 kgEN 10088-2 X2CrNiMo17-12-24 20001_SS-810-9_3-3.ipt31
 PN1110580.06 kgEN 10088-2 X2CrNiMo17-12-22 20001_SS-8-TA-1-6-RS-2.ipt29
 PN1110602.51 kgIron, Cast1 20001_Hydromotor-OMM 50-1.ipt28
 PN11162073.02 kg 1 Turning table6
 PN1115640.12 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 110 x 3658
 PN1066190.02 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M8 x 3552
 PN1115260.01 kgISO 3506-1 A4-801Hexagon Domed Cap NutsDIN 986 - M8 x 1,2573
 PN1060790.01 kgISO 3506-1 A4-807Cylinder Head Cap ScrewDIN 912 - M6 x 3046
 PN1115080 kgISO 3506-1 A4-807Spring WasherDIN 127 - A 667
 PN1065200.02 kgISO 3506-1 A4-806Cylinder Head Cap ScrewDIN 912 - M8 x 4553
 PN1115140 kgISO 3506-1 A4-802Hexagon Socket Set ScrewDIN 916 - M5  x  564
 PN1114090.09 kgISO 3506-1 A4-806Hexagon socket countersunk 

head cap screws
DIN 7991 - M16x5063

 PN1113950.01 kgISO 3506-1 A4-8024Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 16 x 12,87549
 PN1058750.01 kgISO 3506-1 A4-8011Hexagon socket countersunk 

head cap screws
DIN 7991 - M6 x 2060

 PN1065690.08 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M12 x 6556
 PN1113900.01 kgISO 3506-1 A4-8012Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 45 x 2448
 PN1113890.01 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M6 x 1 x 25 x 22,545
 PN1056340.03 kgISO 3506-1 A4-808Cylinder Head Cap ScrewDIN 912 - M10 x 2554
 PN1113860.01 kgISO 3506-1 A4-802Cylinder Head Cap ScrewDIN 912 - M8 x 1,25 x 20 x 16,87550
 PN1038620.02 kgA4-80 SS1Spring WasherDIN 127 - A 2070
 PN1086650.02 kgISO 3506-1 A4-804Hex NutDIN 934 - M1272
 PN1113020 kgISO 3506-1 A4-8014Spring WasherDIN 127 - A 1269
 PN1113010.06 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 45 x 40,62555
 PN1112880.01 kgISO 3506-1 A4-806Hex NutDIN 934 - M8 x 1,2571
 PN1112530.13 kgISO 3506-1 A4-8017Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 120 x 3659
 PN1067370.04 kgISO 3506-1 A4-801Hexagon socket countersunk 

head cap screws
DIN 7991 - M12x3562

 PN1114080.09 kgISO 3506-1 A4-804Cylinder Head Cap ScrewDIN 912 - M12 x 1,75 x 80 x 3657
 PN1089460.01 kgISO 3506-1 A4-804WasherDIN 125 - A 1365
 PN1112636.7 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 343
 PN1114982.42 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 242
 PN1112642.35 kgEN 10088-3 X2CrNiMo17-12-21 Protective sheath 141
 PN1115130.21 kgEN 10088-2 X2CrNiMo17-12-21 Coupling40
 PN1112710.81 kgPOM-C2 Knife protection plate39
 PN1112720.11 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
4 Holder 38

 PN1096970.47 kgASTM A322 GRADE 41402 Cutting knife_chamfering37
 PN1112661.18 kgEN 10088-2 X2CrNiMo17-12-22 Knife Holder 236
 PN1096980.47 kgASTM A322 GRADE 41402 Cutting Knife_frontal 35
 PN1096960.8 kgEN 10088-3 X2CrNiMo17-12-22 Knife Holder 134
 PN1111390.09 kgEN 10088-3 X2CrNiMo17-12-21 Washer33
 PN1115492.3 kgAPI 6A AISI 41401 Spur Gear 1932
 PN1110113.18 kg 1 TG0785MW460AAAB27
  1.82 kg 1KM DVGF 80/40 - 100 mmHydraulic cylinder26
 PN1091784.94 kgSteel2Blue Logic4 Line Receptacle 25
 PN11148515.71 kg 1 Worm reducer24
 PN1107281.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
2 Receptacle bracket23

 PN1115462.24 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Holder22

 PN1114881.13 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Motor holder21

 PN1111330.41 kgEN 10088-3 X4CrNiMo16–5-11  Bolt Tr20x220
 PN1114060.04 kgEN 10088-3 X2CrNiMo17-12-22 24430-sodemann19
 PN1097242.19 kgEN 10088-3 X4CrNiMo16–5-12 Guide bolt18
 PN1112570.6 kgASTM B150 UNS C630001 NUT Tr20x217
 PN1097024.21 kgEN 10088-3 X5CrNiMo17-12-21 Motor bracket16
 PN1112560.34 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Distance plate15

 PN1097011.41 kgNORSOK M-121 MDS M03 Grade 
6082 (T6)

1 Distance plate14

 PN1113840.22 kgISO 3506-1 A4-801Cylinder Head Cap ScrewDIN 912 - M2013
 PN1096871.17 kgEN 10088-3 X4CrNiMo16–5-11 Push Pull Disc12
 PN1096891.7 kgEN 10083-3 GRADE 42CrMo43 Clamp-Rib11
 PN1096883.13 kgEN 10088-3 X4CrNiMo16–5-11 Push pull rood10
 PN1096916.28 kgEN 10083-3 GRADE 42CrMo41 Clamp cone9
 PN1113850.22 kgEN 10088-3 X2CrNiMo17-12-22 Cylindrical stopper8
 PN1096930.93 kgASTM B150 UNS C630001 End ring sliding disk7
 PN1112420.35 kgASTM B150 UNS C630001 Support ring5
 PN11156034.76 kg 1 Feed slide disk4
 PN10969218.16 kgEN 10088-3 X4CrNiMo16–5-11 Base unit3
 PN1097053.44 kgNORSOK M-121 MDS M03 Grade 

6082 (T6)
1 Carrier2

 PN10969935.69 kgEN 10088-3 X2CrNiMo17-12-21 Base plate1
MATERIAL CERT.PART NUMBERMASS (kg)MATERIALQTYDESCRIPTIONTITLEITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

DWG REV:
SCALE:

DWG No.:DESCRIPTION:

TITLE:

SHEET:

PROJECT:

WEIGHT:

This drawing is the property of CONNECTOR SUBSEA SOLUTIONS. It must not be copied, altered or distribued in any way without prior consent from the company!

PROJECTION:

274,6 kg

SN-19024 - Pipe End Preparation Tool

Pipe End Preparation Tool 
General Arrangement Drawing - PEPT

D106304

1 of 2 51 : 10
FORMAT:

A3

Part No.:

PN111557

AKU
DRAWN BY:

AKU
CREATED BY:

GA
DRAWING TYPE:

CLIENT:

5 24.2.2020.  AKU Released
4 7.2.2020. Material change AKU Released
3 18.1.2020.  AKU Released

REV DATE COMMENT RESPONSIBLE STATE

1

22

CoG CoG

10
13

753

79
4

608

100

80
Ø

40
Ø

7

580

CoG
54

602

ROV/Tool interface

Description NO
Hyd. receptacle 4 lines (2 pieces) A

Knife protection (2 pieces) B
ROV Grabber bar Ø20 C

A

C

Technical data
Max.Total weight 16" PIPE 284 kg

Submerged weight 177 kg

1180


